A 2 RREARNP FLEV B I FEIEFIFEEE

106 01 % 03 p = 4 =4 | 2133

§

<4

108 & 09 * 16 p = 374 -] £i23

&

109 & 08 ¥ 27 p = 4 =# | gz

=8 40%

T =g 60%
I Ak 40 9%

WA P

M ;gﬁﬁi rES U 30 %

i . FYREARE 30 %
F N YR 40 %
EE i§;;3 ~ TE il 30 9%

) £y aa 30 9%

N AR 40 %

g TE s it 30 %

5 3 =
& B 3= R 30

X

WA Bl R 2 A2 -
R JESNY) 3 I 27 0 s -
24 289 3% T A B 202 -
= -k - , -
BYRARE =222 -
o ———
o 2 3Pl TE SR 2 AL
PREL ma TS TE L ik = A2 -
L EE SIEES -
* YA 2 A2 -
RS
;; FEN R FEAFE 50 %
o 8y 3% YEARE 50 %
= A AHE 40 %

&giﬂf' TELS L 30 %
- =K
" gH 3= FYyari 30 %

T FE WA

g

i B < . v b % %~ it 50 9
BRI Gsmizoiess-ogead) i nns o o
kl
P 2 TEE Y 1) o ’
ey
L RS s SN R & s 3 TRERE 80 A AR AR
W ERET T L E s RE D 2 R FosFEER ?*ﬁ&~ﬁwmﬁ~
= o g o AL P FHFRO FRgAEE BE S
FP 1= B
(s E?ﬂzﬁ YREARE 50 %

it
(7-8 & )

=]

JE L 30
e #eik 30
g2Y EriE 40

(=)

T4 plsks LT L
E 8 2=

73
i

=]

XXX

(=)




A‘f;[:% s 00
FE | fLp 3= 50% T g 50%
ﬂfff TS BE 50 %
FE v T~ (¥ R4 FYEAR S0 9
ek | 48 T EY 2% (??ﬁﬁiﬂ# C AR B A
s ST AL LGN
- o }"‘
| F B A
Ly (728 ~& %44 g2 Hu %)
s | oA O T é”@@% 50 9%
A= o jie F &8 2= (BVYRARZ AL
# b P Hu s
20w SR AEn A N HE B #% *Wb@;{ e
i Z B 2=
gy H ik 50 %
3\_'1 A L% B! FAd P - - L N
; 5: R p(iﬁi g};i&+ix *TFH) | FEERE B0 X%
; B2 =x (FHREARZIZEN - EYER -BAF
Tl EB AR AR R
TE L8t 50 %
”T:_'!l’/é;\ A ‘/-/_ 7 . s ) A
AR A =R ﬁ—#(% 1 E)E\‘iﬁ% (' Es &5};5‘1}?{;5 5(13;?§F; H{ 45»)
Wt | R FTEE: P ;
g F * B4 2= (; P;FY‘IFL MAR BB FU%“;%i %
G a s BERE S THFE L Edwm - #Y P
A% Hoie ;;)
L [(e% 2 B Y 60% A AimE 5 A0v| T Ll 20% N PR W P AL 20% -
w3 FEY 2% s BB HEA 40% -~ DR
10% ~ 3+ &4 2 157 10%
ke dpt 4%%2% (7R - EYBAR BT |k
GE %%«J{”r‘iqiﬂw?ﬁ)
T gkt 50 %
(P2 B FAC P2 AL E)
;EUJ; TRCE Y H) S I 8 I;w 50 %
: FHY 2% @SSRS ¥ e Ak
?m&‘vﬁﬁa‘lwﬁ A
\—":I‘il’];}" 'F! ]b _:r_)
~3’AL§‘H;£L ﬁ'{;—ﬂi T']:——‘}ql_‘;; ? 3[53 E 60%‘%%5\; ;’; ;bgﬂli ]:i\;ﬁ‘% 400/ F%iﬁﬁl 20% A ;ﬁqﬁ w lé— FFB’E’E 20% ~
A% A e g 258 2= JoET s D, 40% -~ 9 R
3‘«%@7‘?& 10% - *’%% ?I’Hi ¥ r‘?'ﬁ‘qj 10%
(8 & =) TE s ik 50 %

P

EREVE)AFS

A RE 50 %
(P HFARZDEA EYRAR-BAE

A EHY 2=

p‘+95§?ﬁ%~%%%%%%;
fer TE(E Y H) FEAME 100 %
EY ‘*?ﬁFZ, (A RIETH BN ?Jiﬁh}i‘lﬂ;’\ﬂbp ]

A BA PR H 6 E)






